BEARINGS REPLACEMENT TOOLS [‘

PART NAME O1Y. PICTURE
P =7 )\
S2 1 " N = A
S3 1
S6 1
S7 1 BEARING 3
61800-2RS (19 x 10 x T5)
S8 1
S9 1
S11 1
M8 washer 1 BEARI NG 2
M8 nut 1 61900-2RS (22 x 10 x T6)
Circlips BEARING 1
pliers 61900-2RS (22 x 10 x T6)

BEARING 4

61800-2RS (19 x 10 x T5)




BEARINGS REPLACGEMENT TOOLS [“
JEARING 1/ TAKE-OFF

1) TAKE-OFF HARDWARE 2) TAKE-OFF BEARINGS

[ AQ
/@ . =4 ;“ ’Q/
/ AT |
\/// L Ite ‘_" | S 15
S \.\ Y ‘ |‘-,




BEARINGS REPLACEMENT TOOLS [‘

JEARING 1/ MOUNT

1) MOUNT BEARINGS

(Bearing 61900)
S8

S1

M8
WASHER

S9

(Bearing 61900)

2) MOUNT HARDWARE

Step 2 (5Nm) { ¢

A (g & .
. { ===, VAR V. \
Step 2 (SNmM)} .\ —L |1\ -

Step 1 (2Nm) Q




BEARINGS REPLACEMENT TOOLS [‘

JEARING 2 / TRKE-OFF

1) TAKE-OFF HARDWARE / Step 3

) Pliers




BEARINGS REPLACEMENT TOOLS [‘

oo
=g

JEARING 2 / MOUNT
1) MOUNT BEARINGS 5 NUT
>/*/ M8 WASHER
N .Y wm S3
- :;\.:\/ \‘\
N 2 \;’ / P ﬂ (Bearing 61900)
/- / L~ }
/ e 57 T L

T
D
== /
\&5/
!
AN
R
’ll
1
!
1

2) MOUNT CIRCLIPS

.\,\@ﬁ 8
w (¢ \\ :

Pliers




BEARINGS REPLACGEMENT TOOLS [“
JEARING 3 / TAKE-OFF

1) TAKE-OFF BEARINGS

2) TAKE-OFF CIRCLIPS




BEARINGS REPLACEMENT TOOLS [‘

JEARING 3 / MOUNT

1) MOUNT CIRCLIPS

2) MOUNT BEARINGS

M&'NUT
/ 8 WASHER
7 S11

/* Pliers




BEARINGS REPLACEMENT TOOLS [‘

JEARING 4 / TRKE-OFF

1) TAKE-OFF HARDWARE 2) TAKE-OFF CIRCLIPS

~0 p s
P4 5 5 e
~ )
s 4~ . oy
~ > . -
. / ;
< { %
. i .
¢ M 70 S
; ! T y
\ A /
= | Dy IR e g
™ S WS
/ / o e 4
/ / / wa TR P
y / i ARG
/ / e
/ N ¥ ’ ~
f A o ~
I\ \ > & ~.
\ /MK / ~
Lo i z “
| ~
|81
\ 5 f

j,-"‘ {.‘:,

J o M8 WASHER
¢ ‘
M8 NUT




JEARING 4 / MOUNT

BEARINGS REPLACEMENT TOOLS

[‘

1) MOUNT CIRCLIPS

) MOUNT HARDWARE

(9Nm)

.'\.\.'
- S 4
I~ \ S/
' /
\ » ) TNy
0- ,
: f /

2) MOUNT BEARINGS

3) MOUNT CIRCLIPS

@n

S1
(Bearing 61800) -

S2

S3

M8 WASHER

M8 NUT




